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QUESTION 1

Which two statements are true about configuring service tasks? (Choose two.) 

A. A service task can be configured to invoke a process or service asynchronously. 

B. Although you call a file adapter as a service from your BPMN diagram, no linkage between your BPMN process and
the external reference appears in the SOA Composite Editor. 

C. You can invoke a BPEL process by using a service task. 

D. The implementation of a service task can be either a process call or a service call. 

Correct Answer: BC 

 

 

QUESTION 2

Which two statements are true about installing BPM Suite in a production environment? (Choose two.) 

A. You must run the Repository Creation Utility (RCU). 

B. The SOA/BPM infrastructure is typically supported by a managed server. 

C. You typically run the SOA/BPM infrastructure on the admin server. 

D. The JDeveloper Installation from a Quick Start default domain installation cannot access the SOA/BPM infrastructure
running in a production installation. 

E. The compact installation domain could be used in a production environment. 

Correct Answer: AC 

 

 

QUESTION 3

Which two statements accurately describe how Oracle Web Services Manager works? (Choose two.) 

A. On the client side, the agent coordinates a pipeline of policy interceptors that apply policy assertions to the request in
a standardized, predetermined order. 

B. On the service side, policy assertions are processed in reverse order of the client side before the request is delivered
to the service. 

C. On the client side, the policy manager coordinates a pipeline of agents that apply policy assertions to the request in
the order specified by the developer. 

D. On the service side, policy assertions are processed in the same order as on the client side before the request is
delivered to the service. 

1Z0-435 PDF Dumps | 1Z0-435 VCE Dumps | 1Z0-435 Study Guide                                2 / 7

https://www.pass4itsure.com/1z0-435.html
https://www.pass4itsure.com/1z0-435.html
https://www.pass4itsure.com/1z0-435.html


https://www.pass4itsure.com/1z0-435.html
2024 Latest pass4itsure 1Z0-435 PDF and VCE dumps Download

Correct Answer: AB 

 

 

QUESTION 4

In which two tools can you explore the path taken by a running process instance? (Choose two.) 

A. Enterprise Manager 

B. Process Composer 

C. Weblogic Console 

D. Business Process Workspace 

Correct Answer: AD 

 

 

QUESTION 5

Human workflow is implemented as a _________. 

A. component within the BPEL service engine 

B. separate Java server running on WebLogic Server 

C. service engine within the SOA infrastructure 

D. component within the BPMN service engine 

Correct Answer: C 

 

 

QUESTION 6

Which statement is true about how if-then rules are processed during an inferencing session? 

A. Rules are evaluated in the order in which they were added to the ruleset. 

B. A particular rule can be fired only once in an inferencing session. 

C. The effective date set for a rule can take it out of consideration for evaluation. 

D. A priority setting of 1 causes the rule to fire during each inferencing session. 

E. Rules with multiple IF conditions receive higher priority during evaluation. 

Correct Answer: AB 
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QUESTION 7

Which two statements are true for decision table rules? (Choose two.) 

A. They can have multiple conditions, but share only one action. 

B. They typically contain a set of rules that covers all combinations or where no two combinations conflict. 

C. Both gap detection and conflict resolution cannot be turned off at the same time. 

D. A priority can be set for an entire decision table. 

Correct Answer: BD 

Explanation: A Decision Table is an alternative business rule format that is more compact and intuitive when many rules
are required to analyze many combinations of property values. You can use a Decision Table to create a set of rules
that covers all combinations or where no two combinations conflict. 

Reference: http://docs.oracle.com/middleware/1213/bpm/bp-composer- user/ business_rules_bpmcu.htm#BPMCU495 

 

QUESTION 8

Which two statements are true about using Process Player to test a process? (Choose two.) 

A. All activities must be implemented for a process before you can run it with Process Player. 

B. When you are running a process by using Process Player and it reaches a user task that has an associated form, you
must display the form to select the task outcome. 

C. As a process runs in Process Player, the BPMN diagram is animated to show the flow through the model. 

D. Before running Process Player, you must map all roles in your process to at least one user or group in your
organization. 

Correct Answer: BD 

 

 

QUESTION 9

Which two statements accurately describe managing users and roles for a BPM Suite application? (Choose two.) 

A. Swimlane roles are created at design time by using Process Composer or BPM Studio. 

B. Application roles can be added by using WebLogic Console or WLST. 

C. The organization chart structure of users is visible in Business Process Workspace. 

D. You can associate an LDAP group with an application role in Business Process Workspace. 
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Correct Answer: AC 

 

 

QUESTION 10

You are testing a deployed BPM application. You start a process instance, but the processing does not proceed as you
anticipated. 

Where would you get the most actionable troubleshooting information about your BPM process? 

A. SOA server log file 

B. Business Process Workspace Process Tracking page 

C. WebLogic Console 

D. WebLogic Diagnostic Framework (WLDF) 

E. Enterprise Manager 

Correct Answer: D 

 

 

QUESTION 11

Which two product features might a process analyst use the most in contrast to a process developer? (Choose two.) 

A. Process simulation. 

B. Business rules. 

C. Mediator services. 

D. Web Forms. 

E. BPM Studio. 

F. ADF forms. 

Correct Answer: AD 

 

 

QUESTION 12

Which statement is accurate about providing process analytics in BPM Suite? 

A. BPM Suite supports KPI reporting for high-level business architecture models as well as for detailed BPMN process
models. 
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B. The primary focus of measurement and reporting of KPIs is to help operational personnel tune the BMP Suite runtime
environment. 

C. End users use BPM Composer to review reports showing the results of KPI measurement. 

D. To see any populated business process performance dashboard charts, the project team needs to define KPIs in
their models. 

Correct Answer: A 

 

 

QUESTION 13

Which statement is true about BPM Suite\\'s round trip simu-lation feature? 

A. Round trip simulation is a feature of a Process Player. 

B. Basing a simulation on actual process runtime data can help you find bottlenecks in a process model. 

C. Unit test suites can be automatically generated based upon round trip simulation data. 

D. During round trip simulation generation, process bottlenecks are identified and highlighted on the model. 

Correct Answer: B 

 

 

QUESTION 14

The process payload, including customer name and order ID, is stored based on a single XSD- based data object and
the human tasks in the process use this XSD definition. End users need to see the customer name and the order ID as
columns in their default inbox task list. 

Which three approaches best accomplish this requirement? (Choose three.) 

A. Either public or protected flex fields can be used to displays the customer name and order ID without having to add
additional process payload data objects. 

B. Public flex fields can be used if two new simple data elements, representing the customer name and order ID, are
added to the human task\\'s list of data objects. 

C. Public flex fields can be used if two new simple process payload data objects, representing the customer name and
order ID, are first added. 

D. Public flex fields can be used only if they have first been created in the workspace and the two have been added as
mapped attributes in the human tasks. 

E. No changes to the human task\\'s incoming data or data associations are necessary if protected flex fields are used. 

Correct Answer: ABE 
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QUESTION 15

Which event will be raised when a case is suspended? 

A. Lifecycle 

B. Activity 

C. Milestone 

D. User-defined 

Correct Answer: D 
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